CHAPTER II

THE FROCF OF MAXMELL’S EQUATIONS FOR THE FIEID OF A UNIFORMLY
MWING CHARGE.

Moxwell’s equations for the behavicur of the electromagnetic

field in empty space are ps follows
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We shall show that these efuations hold for the fields produced
by o chnrged particle moving with uniform veloeclty taking the formilas
found 1n chepter I os axiomatic .
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Now x, ¥, 2 dencte the distences in the ox, oy, and oz
directions between the moving charged particle and the point in spoce
where the derivatives of the electromopgnetic field ore epleulated.
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